Math 1211: Worksheet #7

Name: @ A#:

1. Let C be the polar curve r = 2 sin(28)
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(b) Find a Cartesian equation for C.
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(c) Find the area enclosed by C.
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(d) Find the equation of the tangent line to C at the point (r, 8) = (v/3, ).
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(e) Find all points of intersection of C with the circle r = 1.
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(f) Give an expression, in terms of definite integrals, for the area enclosed by both ¢
and the circle » = 1. Do not evaluate.
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Math 1211: Worksheet #7 Winter 2016
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(b) Find a Cartesian equation for C.
= Yes 20 €r 20 = 0°0 _ A0
| g Y {Cﬂaa— Ma(‘f) = -?m'zé -1
Yazle(ﬁmao—”‘-“*e) 5 . ) = | = & Miﬁ
_16(e0f © 4 O _2ex O w0
= - .20 ) o
y Yo _ 33 ea*OM = Veom
=|68m®+|6’““9 FRYTE' 2 =) eor B =2
lé(”‘)" u,(i)”—“(—;) ()
= -/t r :
Y 202 = V‘MG. g
- l—‘-‘—’-x—‘i + M -—_3_’_??_.5_‘2- = /»u@:T_-
r‘f- ’,V r—(’ 2 . N
"o 16y 1639_3:2 =’ 4, Homen (n.+:)) anull;j 39@ Fi=m'+y
- T
(¢) Find the area enclosed by C. (j
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(d) Find the equation of the tangent line to C at the point (r,8) = (2, 2).
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(e) Find all points of intersection of € with the circle r = 2.
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(f) Give an expression, in terms of definite integrals, for the area enclosed by both C
and the circle r = 2. Do not evaluate.
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1. Let C be the polar curve r = 4 cos 26.

(a) Sketch C. - r= 4,050
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{b) Find a Cartesian equation for C.
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(c) Find the area enclosed by C.
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(@) Find the equation of the tangent line to C at the point (r,8) = (2, ).
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(¢) Find all points of intersection of C with the circle #3h =7_
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(f} Give an expression, in terms of definite integrals, for the area enclosed by both C
and the circle r = 2. Do not evaluate.
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